S.S. JAIN SUBODH P. G. (AUTONOMOUS) COLLEGE, JAIPUR
M. Com. (ABST) Il Semester
Assignment April 2024
Advanced Business Statistics 11
Paper- 201

Instruction to the Candidates / waﬁ IEIEQ

Assignment consists of SIX major questions. Students are required to answer any TWO questions.

3TS-THE W B8 UM Uy XA & | ST & fheal &1 Usll &1 IR T SIS gl

Section A

1. The Seasonal indices of sales of a firm are as under:

TH B & HTad Jadbidh (9 UHR g

Month Sales Month Sales

January 60 July 50

February 62 August 53

March 65 September 56

April 64 October 54

May 50 November 62

June 52 December 64

If the firm is expecting a total sales of Rs. 24,00,000 during the year 2024,estimate the
sale for the individual months of 2024,

gfe HUAT a9 2024 T Ha fashd 24,00,000 UL B P A a1 81 <l I 2024 b
qeh HIE B! [dshd 1d Biod |
2. Describe briefly the various methods of calculating Moments.

RYTd & TUHT B &1 fafte faferl s gufa &y |

Section B
3. (a) Calculate Ry »3 multiple coefficient of correlation, when:
r1»=0.5, I13= 0.6 3= 0.3
U TEGEE=] UM R 55 Jd HIRY Salfdb
r12=0.5, r13= 0.6 r;3= 0.3
(b) Is it possible to get the following results from a set of experimental data?
TITIE a2 & U THg ¥ o1 (gforiad uiRomd U 1 9Ha § 2
r12:O.6, I13= -0.5 3= 0.7




4. In an examination 1000 students appeared. The number of boys was greater than that of
girls by 20% of total number of students. The number of successful students was greater

than unsuccessful students by 450. The number of unsuccessful boys was 150. Prepare a
twofold association table and find out coefficient of attributes of attributes between boys

and success.

THh Tiem ® 1000 faeneff =nfie gU & &1 We Sl ¥ $a faenial &t We a1 20 %
el 8t A T faemdf srawa faenfial @ 450 Srer O A 3w fFemdf 150 @ T S

I AT TR Y 3R TS| 3R THadl & d 0l Jra=f 0T J1d Be |

Section C

5. What is meant by ‘Vital Statistics’? How such statistics are collected and what purpose

they are used?

SitaT THE J 3MTUehT T MY § 2 Ig FHS [T TR Uhiad fohd ofd & Ud {5y 320 & o s-7a1

ST BT S 2

6. The age of mothers and the average number of children born per mother are as follows:

ATaratt B 31 Ud U AT & S aTdl S sl o1 SRl Y TR & -

(Born per mother)

Age of Mothers 16-20 | 21-25 | 26-30 | 31-35 | 36-40 | 41-45
(In years)
Average number of children 0.6 2.5 35 ? 4.5 55

Interpolate the average number of children born per mother aged 30-34.

31-35 Y 3T ATl HIATST & SIFH- a1 Tt b SR TRAT BT ST HIo |







S S JAIN SUBODH PG (AUTONOMOUS) COLLEGE, JAIPUR
Assignment — April-2024
M. Com ABST -Semester- 11
ABST 202 Management Accounting

Answer any two of the following six questions.

fFofoiad T Ui & I foesl @ & IR i
Unit 1

1. Explain the functions, responsibilities and qualities of a management accountant.

TSt AR & B, ITRaTd@! 3R 0T &1 REAT |

2. Mahesh Ltd. has 10% Debentures of X 10,00,000. The expected annual net income before
Interest and tax of the company is ¥4,00,000. The equity capitalization rate of the company is
15%. Compute according to Net Income Theory-

(a) The existing total market value and the overall cost of capital of the company.

(b) The impact on total market value and overall cost of capital if the management takes a
decision to increase debentures by X 6,00,000 by reducing equity; and

(c) The impact on total market value and overall cost of capital in case, the management decides
to reduce its debentures by X 6,00,000, through issue of equity.

Ho foIffies & U 10% a1el 2 10,00,000 & BU-UF § | HHIH! B! GRHTfAd Y ATftieb Mg

S g4 % 4,00,000 1 THAT 320 B YSHa0l & 15% &l Y& 0 g & 3aR
P o

(30) BT BT TTHM H SR oo 3R Gl BT T A1I;

(@) gfe 3B E H HHl B BT H 2 6,00,000 B gfgk BI WA I HHH! B Dl TR Hed
U7 Yoit ! ANTd IR JUTE; TAT

(@) fe 3= & AT GRT BUI-USAT H % 6,00,000 BT HH! B STd dl HHH & P SOIR
T dUT goil &1 dNTd 0R U9 |

Unit Il

3. What do you mean by financial statements? Explain the main financial statements.

foriter faror ¥ 3y o1 gHErd 87 o7 foxita faavul ot e &9

4. From the following information presented by Tejsevi Ltd. Prepare the Balance Sheet:

dord! faftcs gRT uRgd FufaiRad STMeRT ¥ g1 iR &y



Revenue from Operation to Net Worth 4 times

Current Liabilities to Net Worth 50%
Total Debts to Net Worth 60%
Fixed Assets to Net Worth 60%
Current Ratio 2%
Revenue from Operations to Stock 10 times
Debtors Velocity 8 times
Annual Revenue from Operations Rs. 8,00,000
Cash Revenue from Operations 40% of Sales
Unit I

5. What is Cash Flow Statement? Describe Briefly the main sources and uses of Cash.

g YaTg faax a1 82 Aad! & T Aid! Td IUANl &1 J&Y & quid H1 |

6. The following details relate to the two machines X and Y:

Machine X Machine Y
Cost Rs. 56,125 Rs. 56,125
Estimated Life 5 years 5 years
Estimated Salvage Value Rs. 3,000 Rs. 3,000

Annual Income after tax and Depreciation:

Year Rs. Rs.
I 3,375 11,375
I 5,375 9,375
1T 7,375 7,375
v 9,375 5,375
A% 11,375 3,375

You are required to calculate:
(a) Pay back period for both machines.
(b) Average rate of return on X and y machines.

Suggest which machines is better and why?




ASSIGNMENT — April-2024

M.Com -Semester- 11

Advanced Corporate Accounting —ABST- 203

Instruction to the students/ el @ ford A3

The assignment consists of six major questions. Students are required to answer

any two questions

SeIgTHE 4 & ggq ge & [Aenral I &1 & F¥E BT Seav & I &

Section-A

1.  What is a holding company? Explain the provision laid down in Section 212 of the

Companies Act, 1956 regarding holding companies.

IR BT B BEd 87 HeIl AAH, 1956 B GRT 212 ¥ 90T FHEIRT HFAT |
TR yraEEl B qHSSY |

2. X Ltd. Acquired all the shares in Y Ltd. on 1% October, 2022 at a cost of " 5,60,000. The

Balance Seets of the two companies as at 31 March, 2013 are given below:

v feffics o1 ag folfics & \AwT 3797 1 GCER, 2022 HI °5,60,000 B AR TR

WIS | 31 H19, 2023 BT g dHEAT & g 9 yaR &

Balance Sheets

X Ltd. X Ltd.
Figures Figures

1. EQUITY AND LIABILITIES




(1) Shareholders’ Funds
(a) Share Capital
Authorized
Issued and Subscribed

Equity Share of * 50 each

(b) Reserve and Surplus
General Reserve
P.&L.alc
(2) Share Application Money Pending allotment
(3) Non-Current Liabilities
(4) current Liabilities
Trade Payables: (Creditors)

Total
Il ASSETS
(1) Non-Current Assets
(a) Fixed assets
(i) Tangible Assets :
Land and Building
Plant and Machinery
(ii) Intangible Assets
(b) Non-Current Investments
Investments
(2) Current Assets
Stock
Trade Receivable : (Debtors)
Cash & Cash Equivalent : (Cash)
Total

7,50,000 2,50,000
4,75,000 12,000
4,00,000 1,78,000
75,000 80,500
17,00,000 5,20,500
5,15,000 1,50,000
1,50,000 1,35,5000
5,60,000 -
1,70,000 1,01,000
1,40,000 79,000
1,65,000 55,000
17,00,000 5,20,500

The following information is supplied to you:

(i)

(i)
(iii)

(iv)

(v)

The credit balances of Y Ltd. On 1%t April, 2022 were as follows: General Reserve Account

* 10,000, P.& L. Account * 1,40,00.

A Interim Divdend at 16% per annum was paid by Y Ltd. During the year 2022-23.

The creditors of X Ltd. Include * 30,000 for purchases from Y Ltd. On which the latter

company made a profit of 25% on sale price.

Stock of X Ltd. Includes goods at cost purchased from Y Ltd. (Part of * 15,000 purchased

above)

The profit & Loss Account of X Ltd. Includes interim dividend @ 16% per annum from Y

Ltd. Prepare a consolidated Balance Sheet.




et fforRad e <1 oI €

(i)

(i)

(iii)

(iv)
(v)

1 31, 2022 BT dle fIfics & Hfee AV 39 YR I : IHRY Had @rar 10,000
AT—8T+ "@rar * 1,40,00

ar5 foffics gRT a¥ 2022—23 & SR 16 Ul d1f¥d B & UR SIIRA AR BT A
fobarm T |

T fofics @ oFerRi # 30,000 @18 foifics 9 o0 & I # wffel o o9 W 918
qrell HHAT -1 fIha Heg WR 25 UG ot SHHRIT o |

TR forfics & i d SWRITd B § F e ®y # 15,000 &1 AT Aftaferd g

TR fafies & av—saify @ # a1 fafics 9 i 16 Ufaerd & a1ifife e) R =R
e Afford 2 |

Uhlhd el TR HIY |

Section- B

What are the requirements in regard to minimum paid up capital and reserves for banks?
How are these items shown in schedule 1 and 2 respectively?

9% B JATH Ued Yol IR Hodl & T W T AMISATG 57 § HAl Pl BHLT: AT 1 AR 2
# 59 R @ S 2°?

Given below are the revenue items of National Life Insurance Company Ltd. for the year
ended 31.3.2012:

fallaN lalaN

I e IR~ 1 fafies @1 31.3.2012 &I fF=feRad omaerd #< <1 MR &€

Premium 1,12,000
Consideration for Annuities 30,000
Interest, Dividend and Rents 4,000
Claims 48,000
Annuities 16,000
Surrenders 16,000
Bonus in Cash 4,000
Bonus in reduction of premium 6,000



Commission 4,800

Expenses of Management 30,000
Interim Bonus paid for the Valuation Period 7,200
Life Assurance Fund as on 1.4.2011 48,800

As on 31.3.2012 net liability as per Valuer's certificate was Rs. 48,000. The
company wants to write off Rs. 4,000 book value of investments. As a result of Valuation,
the company declared reversionary bonus of Rs. 135 per Rs. 1,000 and give the policy
holders an option to take bonus in cash Rs. 75 per Rs. 1,000. Total business in force was
Rs. 2 lack, 3/5 of the policy holders in value decided to get the bonus in cash.

Prepare Revenue Account and Valuation Balance Sheet and Distribution Statement.
Also pass necessary Journal entries and prepare Life Assurance fund a/c.

31 AT, 2012 BT DS & YAVTS & AJAR Y& AT . 48,000 AT | B A=A o 4
4,000 AUFIRET BT AT B | dHIDBD & JAT UF & AR W ST 7 . 1,000 Bl GIfeRTT W 3.
135 STRERT a9 I fhar g GifeRiem) &1 . 75 Ui 6. 1,000 & 99 o &I fddbed fr |
@l . 2 g P AifRET g 821 3,/5 (60%) o1 & difeRiaR®! 1 FHe a9 o WhR
ot Nawg, @7, Hediad forear @ fIavor fAaRvr IRARETa d¥id ¥ TR BITY | 3aedd S+d ufafteaf
qAT ST 41 Y T Al TR BT |

Section -C
Due to a series of trading losses, Ram Ltd. resolved to reduce its capital to
2,00,000 fully paid Rs. 5 shares and to eliminate its Securities Premium
Account. The Company's Balance Sheet prior to implementation of the

scheme was as follows:

RS BT @ S@ell & SR IH fafics o U ISl &I 5 wud arel guied
2,00,000 Sfdact 372 H e Ud ufofa WATH WA B FHS B DT UKgd T b |
AT BT AN B H qd HFIAT BT USST 39 YR oA—

Balance Sheet

Amount
Particulars in Rs.
(1) EQUITY AND LIABILITES
(1) Shareholders Fund

(a) Share Capital

20,000 Equity Share of Rs.10 each fully paid 20,00,000
(b) Reserves and Surplus




Security Premium 2,00,000

Profit & Loss a/c 2,00,000

(2) Non-Current Liabilities

(3) Current Liabilities

Creditors 2,48,000

Bank Overdraft 2,92,000
Total Liabilities 27,40,000

(I1) ASSETS

(1) Non-Current Assets:

(a) Tangible Assets

Land & Building 6,48,000

Plant & Machinery 8,28,000

(b) Intangible Assets

Goodwill 4,00,000

Patent and Trade Mark

(2) Current Assets:

Stock 3,68,000

Debtors 2,96,000

Assets 27,40,000

It was resolved to apply the sum available under the scheme as follows:

(i)  to write-off the goodwill Account;

(i)  to write-off the debit balance of the Profit and Loss Account;

(iii)  to reduce the book value of assets by the following amounts:
Land and Building Rs. 1,68,000; Plant and Machinery Rs. 2,68,000;

Stock Rs. 1,34,400 and

(iv) To Provide a bad debt reserve of 10% of the book value of debtors.

Show the Journal entries required to give effect to the scheme and prepare the

revised balance Sheet after its implementation.




AT H IuALT IR BT 9 YBR YJad B HI Y g9 b

(i) w=fa @n @ ufefad wwm #:

(i) < v—e™ Ed & sfde 2y &l ufaRad HRe #:

(il) Fr=fRed e @GRl &1 &6 9o geM H—9H Ud 9d9 1,68,000 HU:
e gd HefI9 2,68,000 TUU: Wb 1,34,400 WUJ: Uq

(iv) <Rl & g&e 9o & 10% Sga 0T Fod a4 ¥ |

ATSTHT B YA 994 & oIy 1aead Sivel gfdftedl Y | 1 g9& fGaraa= & gganq
i ferest aarsY |

Explain suggestions regarding improvement of environment accounting.

6. What is Amalgamation of companies? How does it differ from absorption?
FHHET BT THIHRT {6 FHEd 27 I8 ey ¥ fod yaR e 22



S S JAIN SUBODH PG (AUTONOMOUS) COLLEGE, JAIPUR
ASSIGNMENT — April-2024
M. Com ABST -Semester- Il
ABST 204 Goods and Service Tax

Instruction to the students/ @'ﬁﬁﬁﬁé’ﬂ

The assignment consists of six major questions. Students are required to answer
any two questions

3RTgHe § o8 UE Uy B OFl ol [l 4 Ui & IR §

Unit 1

Q.1) What are the salient feature of Goods and Service Tax?
g UG a1 B B I fa=IwdT 1 82
Q.2) The following details are furnished by Mr B who is a registered person under composite

schemefafIRad faavor ot & gRT IR fohT 71U § S WY AioiT & d8d U Usiighd oafad &

Purchased input intra state Rs 400000 +12% GST

Packing material purchased intra state Rs 100000 +5% GST

Capital goods purchased intra state for Rs 500000+ 18% GST (Depreciation 10%)
Sundry expenditure Rs 100000

Profit Rs 100000

Calculate the amount of GST payable if rate of GST on this product is 18% and all the supply is
intra state in composition scheme at 1%.

S ST &1 JIMRT BT T0FT B Al 3 IdIE TR SHTHS B & 18% & SR A+ Smgfef 1%
W B W H g Re g
Unit 2

Q.3) Explain that whether following persons of Rajasthan may adopt simplified scheme
of service providers or not? If they are having any other alternative then consider it. Find
tax liability of all persons by showing aggregate turnover as well as taxable turnover
from the given information



JATRT fob T eI & FfaRad safad da1 Herarsh & WReed Aol I SO 9ahd §
g1 TE1? Al P U BIs 3 fadhed g dl 39 W R &1 €t T8 TSR § $d RIER

& TIY-T1Y TR A HRIGR [G@HR TH AfGaal & H gadl J1d Do
Turnover of Goods and Services during financial Year 2021-22 (IN LACS)

S. Particulars Ramesh | Mahesh | Dinesh | Suresh

No

1 Turnover of Taxable Goods 5 8 2 30

2 Turnover of taxable Services 20 16 8 2

3 Turnover of Exempted goods 10 5 3 10

4 Exempted interest and discount on deposits, | 5 6 1 2
loans and advances

5 Turnover of exempted services other than4 | 5 1 1 1

6 Services subject to RCM @ 12% 10 4 2 4
Total turnover 55 40 17 49

Q.4) What do you know about computation of GST liability? Explain.

STgct ST &1 0T & IR H 3T T STd 62 SRS Be |

Q.5) When does the Taxable event occur in case of imported goods?

3{TTfAd aXg3f o AT H BRI U] &d °ied gidl 87

Unit 3

Q.6) What are the circumstances under which punishment may be imposed in CGST Act
2017? How much punishment may be imposed?

Hrohuadt sifafam 2017 ® fo uRfufaal & < vmar s goar g2 faed= I 81 gepd!

87




S. S. JAIN SUBODH P. G. (AUTONOMOUS) COLLEGE, JAIPUR
M. Com. (ABST) IV Semester
Assignment April 2024
Operational Research and Quantitative Techniques

Instruction to the Candidates / uRenfeia & fo fAder

Assignment consists of SIX major questions. Students are required to answer any TWO questions.

IRATgTHE H B: UGT U 2 | BTAl B BIS QT UL & Sk o & |

Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Section A (Tvs a)
What do you meant by Game Theory? Explain the importance and limitations of Game Theory.
Yol RIgid ¥ oY 1 §Hsd &7 Wl NIgid & A8 iR AHRil &1 aoi= Sy |

Solve the following linear programming problem:
o1 IRgPd AT B FART BT A BRE

Max. 6X71 + 4Xo
Subjectto:  2x; + 3x2 < 120
2X1+ X, < 60
Where: X1, X, >0

Section B (@ve )
What do you mean by an assignment problem? What are the characteristics of assignment

problem? Explain the difference between transport problem and an assignment problem.
NI AT A 3T FI7 WA 27 SISy AR &) faRvarg @« 2?7 faaRer |aen U srferas
TRAT H 3R qa18Q |

Solve the following transportation problem:

=1 aRags a9 &1 g HRT
Factory W ://vVarehOl\J:/e W Capacity
1 2 3 4
F 19 | 30 | 50 10 7
F 70 | 30 | 40 | 60 9
F, 40 8 70 | 20 18
Demand 5 8 7 14 34

Section C (@vs 9)

Explain meaning, objectives and characteristics of Queuing theory.
IR Rgia @ ef Iz v fermamil &1 goi= S |

The following table given the activities in a construction project and other relevant information:
I & € Aot § va fmior aRaeEr @ et vd e awfid e @ e @
Activity: 1-2 1-3 2-4 3-4 2-5 4-5
Duration: 13 12 2 8 15 2
a) Draw the networking for the project. (R3S @& forg a3 MG 99183 |)
b) Find critical path. (se1i~de 4 sma @Ity 1)
c) Find floats for each activity. (v&& fovar & fog Wele sd @IfoTg )



S SJAIN SUBODH PG (AUTONOMOUS) COLLEGE, JAIPUR
M. Com ABST IV Semester
Assignment April 2024

Strategic Financial Management

Instruction to the Candidates/ il ot ﬁéQl

Assignment consists of six questions. Students are required to answer any two questions.
3T B UY B | B &I fHgl &l i garall & Sfare &= 8|

Unit 1

Q.1) Describe the elements of effecting the financial Planning.

faxita faer &Y gHIfad B aTel dedl o1 aufa 3 |

Q.2) What is Sub Broker? What is the Process of registration and his responsibilities.

T B FT 5?2 ITD! ARSI b Ufeh a1 31 § 3R I forderieat 1 8.
Unit Il

Q.3) What do you understand by company Analysis? Explain important techniques of
company Analysis.

ST fIRYT & 31T FT T €2 HU-T [A=e0r &) Hedqul da-iieh] o ReT By |

Q.4) Calculate PQR future price for 3 months and arbitrage opportunity. Sales price of PQR is
Rs. 220 (face value 10) and future price is Rs 230. Interest rate is 15% p.a. Dividend Rate is
25%.

3 g & o PQR future & T DI TTUFT DY | PQR BT fdehd T 3. 220 (3ifdvd T 10)
3R 3 HEH & &1 future price 230 $UY g | SIS &R 15% Wi a¥ g1 TR &R 25% B,
3TfecST 3aR & o AT 61 |

Unit llI

Q.5) Briefly explain the theories of Portfolio.

Urewhifer & Rygicl 1 Jau H qHesd|

Q.6) Mr X On 1%t July 2017, during the initial offer of some mutual fund invested in 10000 units
having face value of Rs 10 for each unit. On 31.3.2018 the dividend operated by the Mutual
Fund was 10% and Mr X found that his annualized yield was 153.33%. on 31.12.2019, 20%
dividend was given. On 31.3.2020 Mr X redeemed all his balance of 11296.11 units when his
annualized yield was 73.52%. What are the NAVs as on 31.3.2018, 31.3.2019 and 31.3.20207



fAReR TRT 3 1 A8 2017 B $8 I e B YIHT UH & SRM 10000 IHT!
H 1o foran, e Td® 3dbls o U sifdsd ged 10 U8 oT1 1. 31.3.2018 HI F3(d
B8 GRI TaTferd ATHIRT 10% T 3R ot Ty = U s 3a! aifties Ui 153.33% 2t
31.12.2019 BT 20% ATHIRT fGTT AT 31.3.2020 T ST TRT = 11296.11 SHTSAT B U ARY
Y AT YT &, 56 ST aTfiics TR 73.52% Y1 31.3.2018, 31.3.2019 3R 31.3.2020

AT R G2



ASSIGNMENT — April-2024

M.Com -Semester- |V

Financial Reporting —ABST- 402

Instruction to the students/ Qe & ford Ader

The assignment consists of six major questions. Students are required to answer

any two questions

IeIgTHE 4 & ggq ge9 & [Aenal I &1 & F¥E BT Seav & ST &

Section-A

1. R < ufdaes a3 9 S#e SIffraH, 1956 @1 YA®T BT quiF B |

Explain the role of company Act, 1956 in Indian financial reporting system.

2. o< ufcraeal @ aarer #Rd gU T o &l Jsisy |

Explain the meaning of financial reporting and corporate governance.

Section- B

3. 9l Hegae Ul & 9 HRA §U DT HEw WK DI |

Describe all Value Added Ratio in details and also explain their significance.
4,99 SIECLS

(31) 3% geaasH

(@) IR Heaae

Write a note on:
(@) Economic Value Added



(b) Market Value Added

Section -C

ITROT oIGlh] BT Bl HURET Bl IR b oY & S a1el rawaes geiai bl
TS |

Explain suggestions regarding improvement of environment accounting.

seie W I ufddesi @ sawdar gard gy faxiia ufidesi &1 wiiw W
PINTY |

Explain the need of financial reporting on internet and describe the future of
it.



